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1. Introduction
In the RAN2 66 meeting, collision between measurement Gap and MBMS reception and mismatch between DRX and MBMS reception have been mentioned in [1] and discussed in [2].
In this contribution, we will give the further analysis and proposal.
2. Discussion
2.1. Rules for solving the collision and mismatch
If the eNBs do not know the receiving condition of MBMS of UE, the collision between measurement Gap and MBMS reception and mismatch between DRX and MBMS reception will happen easily. For the mismatch between DRX and MBMS reception UE can still receive MBMS at the cost of some power inefficiency, nevertheless, for measurement Gaps, UE can not receive MBMS services.
We may apply two rules to deal with this issue:
Rule 1: Only report whether UE is receiving the MBMS services or not and keep updating
Analysis of rule 1:
· Pros: Overhead of uplink is light. eNBs can configure the measurement Gap to the UE receiving the MBMS services in the non-MBSFN subframes easily by applying the rule 1 when the periodicity of MBSFN subframes allocation is larger than 10ms
· Cons:  This rule can not provide the enough information for eNBs to configure the measurement Gap   suitably when the periodicity of MBSFN subframes allocation is equal to 10ms.

Rule 2: Report the particular MBMS services and keep updating 
Analysis of rule 2:
· Pros: This rule can provide the detailed information for eNBs to configure the measurement Gap suitably even though the periodicity of MBSFN subframes allocation is equal to 10ms.
· Cons:  Overhead of uplink is heavy correspondingly. Sometimes, due to the dynamic scheduling, the subframes where the particular service is transmitted will not be very well predictable.
From the analysis above, rule 1 and rule 2 can solve this issue in different extents and also have different disadvantages. We suggest the rule 1 is used to solve this issue at least. rule 2 is FFS.
Proposal 1: The rule 1 is needed at least, and whether the rule 2 is applied is FFS.
Because the Gap is property of UE in RRC_CONNECTED state, the idle UE does not need to solve this issue, so the report mechanism is not needed.

Proposal 2: The report mechanism is not needed for the idle UE.
3. Conclusion
In this contribution, we have given the further analysis and proposal for solving collision between measurement Gap and MBMS reception and mismatch between DRX and MBMS reception.
We suggest that the below proposal should be considered.
Proposal 1: The rule 1 is needed at least, and whether the rule 2 is applied is FFS.

Proposal 2: The report mechanism is not needed for the idle UE.
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